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20 Mev HE& H2}QI(TR23)

H8Q: 20 Mev LEXAES CHASE A|HO| ZASH
O 4 X]: 10~20 MeV

7 AR}y 2 X (proton)

ZAHE: 3cm-® (+ 10% @ 3cm-O)

Flux: 5E9 ~ 5E10 protons/cm?/pulse
EZ7|2(1S09001): 0| X|(£5%), -ELOE'E(HO%) ZAZH(+10%)
SH820k ME, H2, BN S
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100 MeV & HIZ}QI(TR103)

742: 100 MeV YHXIEIZ CHADH A|HO| ZALSH
o4 X|: 33~100 MeV

7t5 AL Zd Xt (proton)

ZAMHA: 3cm-® (+ 10% @ 3cm-O)

Flux: TE10 ~ 5E11 protons/cm?®/pulse
EZ7|2(1S09001): 01|I-1XI(+5%), T L= (+10%), ZAFZH+10%)
2I-_9_l='0|: AH%I_T'_QI- XHE EEL }EX-” =
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100 MeV XM E2tQ1(TR102)

7H8: 100 MeV L/JAHAS CHASH A|HO| ZRARSHE EA|(K4E
Ol 4 X|: 33~100 MeV

7t5 LRt LG X proton)

ZAFHA: 100 mm x 100 mm(z 10% @ Z=AIHZE)

Flux: 5E5 ~ 1E8 protons/cm?/pulse

ETIIZ(509001): lLAXI(25%), @AE(210%), ZAR(£10%)
28 E0k SF/AA HAMIIHHXEZ/EH S) S,

YAE HEV S
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o O O O O

M & W E

71X O] =gEK|
Na: =4, B, AL F9| 7|4 0|22 YEOHX|E 7H55HY
2L HEQ BEHO EASHE T

oL X|/MZ: 20~200 keV / ~5 mA

O|2: H, D, He, N, Ne, Ar, Kr, Xe &

ZAFHA: ECf 2A 150 mm(+ 10% @ 5 cm x 5 cm)
“I'7|T|so9oo1) 01|I-1x| +3%), T E(+10%), Z=A2H+5%)
2220k &, L2 MetY § Aol BHIFE

1y

o O O O O

22 0| 2HIEHK|

7HR Co, Fe, Cuy, Cr 9| 4 0|2& LY HXZ 7+&510]
AlHO|Lt X Z o Mror_ X

O X[/ F: 20~150 keV / ~1 mA

O|2: Co, Fe, Cu, Cr, Ti, Mg, Mn, Ni &

ZAFHA: Z[C] 100 mm x 100 mm(+ 10% @ 4 cm x 4 cm)

EXT|Z(1S09001): OILX|(+3%), T YLE(+10%), TAZH(+5%)
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